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(B) (WL HHEN( AT HBEDLEFOBEm) (F) ©F LEREN AT SBE 0 LES D BE(m) %iwwf’;fégﬁﬁf’t‘ﬂﬁé%éf_ﬁ?ﬁﬁ Fr7E it R R RETE A4
(C) BB L5 HHM00kN/ M LU R DR B DI BID 1 D& ABEKN/m) (G) B AL T DR i DHFED 1 DB fEKN/ ) EMBEEHE S HRRLBEBHNIHALR
D) CONLZEEY VAT IEEDLTRENSE(M) H) QN LHEEY AT IBEDLREDEE(M) DEGHENCEETAHENTED,
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RHBES % =
(A) (B) ©) (D) (E) (F) (@) (H) (A) (B) (©) (D) (E) (F) (G) (H)
(1) 1255 1.0 99.6 1.0 - - 115 2.3 125.5 1.0 96.9 1.0 - - 115 2.3
(2) 146.2 1.0 99.6 1.0 - - 141 2.8 146.2 1.0 96.6 1.0 - - 14.1 2.8
( 3) 149.2 1.0 99.8 1.0 16.4 3.2 15.2 3.0 149.2 1.0 96.5 1.0 16.4 3.2 145 29
( 4) 146.9 1.0 99.5 1.0 - - 15.1 3.0 146.9 1.0 98.0 1.0 - - 15.1 3.0
(5) 143.6 1.0 99.8 1.0 159 3.2 15.1 3.0 143.6 1.0 99.3 1.0 15.9 3.2 15.1 3.0
(6 ) 142.9 1.0 98.9 1.0 - - 15.1 3.0 142.9 1.0 98.0 1.0 - - 15.1 3.0
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